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Time : 3 Hours Max. Marks : 70

Note : This paper is of seventy (70) marks containing
three (03) sections A, B and C. Learners are
required to attempt the questions contained in these
sections according to the detailed instructions given
therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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Describe the mechanism of CO, fixation in C3 plants.
How does it differ from CO, fixation in C4 plants ?
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Describe the structure, properties and classification of
Proteins.
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Describe the mechanism of anaerobic respiration in

plants.
Uyl H TR Ia9 b GfhAT BT quiF BT |

Discuss the physiology of flowering in plants with
special reference to Photoperiodism, Phytochrome and
Florigen.
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(Short Answer Type Questions) / (75 ITRIT U%)

Note : Section ‘B’ contains eight (08) short answer type
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questions of five (05) marks each. Learners are
required to answer six (06) questions only.
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What are Auxins ? Discuss their physiological role in
Plants.
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What are micronutrients ? Indicate their major
functions and deficiency symptoms in plants.
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Describe the morphological and physiological changes
in plants in response to water deficit and salt stresses.
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Differentiate the following :
(@ Nucleotide and Nucleoside
(b) Acidic amino acid and Basic amino acid
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5. Describe the structure and the mechanism of enzyme
action.
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6. How do plants respond to water stress ?
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7. Write notes on the following :

(@) Second law of thermodynamics and its relevance
in metabolic reactions

(b) Growth retardants

PR W fRwlrt ff -

@) et @1 R form e e Gl
i 5G] JuRH

@ g giokrrs

8. Describe the mechanism of water absorption by
vascular plants.
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Section-C / GUs—T
(Objective Type Questions) / (@IS T)
Note : Section ‘C’ contains ten (10) objective type

questions of one (01) mark each. All the questions
of this section are compulsory.
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Fill in the blanks with appropriate word :
Ree Tl 4 Ifod e WY
1. COyacceptorin Czplantsis ......c.ceveee.
C, TR & CO, T 8
2. R. Q. for anaerobic respiration is ...................
TR YaeH @ fog oIR. 7, BIT |
3. The protein part of an enzyme is called ..................
TR BT WO AR e &
4. The site of protein synthesis ina cell is ..................
BIRTET 3 TTEIT TICTO Gy Ry &
Select correct answer for the following :
frfed & e @ fwer 9

5. Rancidity of butter is due to the formation of

(@ Butyric acid
(b) Formaldehyde
(c) Acetic acid

(d) Benzoic acid
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One of the macro-nutrient for the plants is :
(@ Molybdenum

(b) Boron

(c) Zinc

(d) Calcium
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Cytochrome are :

(@) Water acceptor

(b) Electron acceptor
(c) Hydrogen acceptor
(d) Oxygen acceptor
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Write True or False for the following statements :
fy=ferRad weml & forv Wy /39 forRau
8. The dark reaction in Photosynthesis takes place in
grana of chloroplast. (True/False)
YHIE HIAY H SBRIGIE kA ERT d9h B
I Bl R GRVAKR)
9. TCA cycle is another name of Kreb’s cycle.
(True/False)
AW T AP DI TP B AT AW 2| (T /)
10. Abscissic acid is responsible for leaf-fall in plants.
(True/False)
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